Question Paper Code : 3137

B.Sc. (Part-11T) Examination, 2017
(Regular and Exempted)
STATISTICS
[ Third Paper |
( Operation Research )

Time : Three Hours Maximum Marks : 75

Note : Answer five questions in all, taking one question from

each unit. Question No. 1 is compulsory.
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i (a) What do mean by optimisation techniques ?
geerdERe mfafid & ey F e © 7

(b) Give basic assumptions of linear programming

problem.
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What is duality 7

gaae Tk ?

What is assignment problem ?
Ffdedemor woer 7 & 7

What is dynamic programming problem ?
ey SEROT T oy ?

Write the meaning of :

MIM]I : N| = [FCFS

f=feiea & o ffao

MIM|! : N|a |[FCFS

Define critical activity and critical path. What do
you mean by float 7

it P T T T B oW S
Wi & oM 4 T ¥ 7

Define PERT technique.

T R ofofte i
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(i) What do mean by two person zero sum game 7

2 s g A A9 | 9 = T & 7

What do you mean by Inventory control ?

Avell FEE | o 1 A %7
UNIT- / §578-]

What is standard form of L.P.P.

=
—

e g4 1 Sogd =Y 71 Bl € 7
Solve the given L.P.P. using Big M Method.
ﬁﬂﬁﬁ.ﬁ.ﬁ.ﬂ%ﬁﬂmﬁﬁmﬁiﬁﬁﬂ :

z =%+ 2%+ 3%, X,

Maxmize
e [
Subject to : X+ 2%+ 3%, = 15
i 2+ %,+ 5%, = 20
X, & 20,F X, F K = 10
s Kor Xyn %y =0
PT.O.
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(b)
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Obtain the optimum solution of the following
transportation problem :

e amma awen 1 7= & ek

S
T2l 2] 44%s ( upply
g L 8 g il
B sl21T 3] 4.1 5 ¥
Demand
{ﬁ"’f} 60 | 60| 30 | 40 | 10

Obtain the optimum assignment schedule for
the following problem :

T Y

Job (%F)
Machine () ST [T s
A 12 10 15 22 18
B | 10| 18| 25| 15| 16| 12
c 11 10 3 8 5
D 8 THELEECH ETH ET
(4)
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6.

UNIT-I 7 eIl

\What is the problem of queuing theory 7 Describe
characterisation of M{M]| model. Write down relationship
between average queue length and average waiting

time.

% e
mﬂwﬁ!aﬁlww%?wmum.
ﬁﬂﬂﬁﬁaﬁhaﬁtﬁﬁmﬁﬂamm@%
mmﬁé\m%aﬁﬁrﬁm

Stating the Assu mptions clearly, show that the number

of arrivals on a gueue follows Poisson distribution.

mﬁﬁmm%aﬁﬁmﬁgmmﬁﬁ

i § ST @ e 2 Mt
UNIT-I / FEE-il

The three time estimates for the activities of project

are given below
Heie & FA 3 & w o fre T 8 ¥
(a) Draw the project network.
S Jeas @ e A
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1
(b)  Find out the critical path and project duration of 7 \What are the basic steps in PERT/ CPM Techniques.
il Give five applications of these techniques.
il 9 O I o s B &, @, R @ g o T ¥ 7 S O
[
(¢)  Calculate the length and variance of the critical FqdnT SEd
path. UNITAV / TRV
' : and their
ifos 9o THIE O gAY S BT 8. Describe the problem of Job frequjer"lr:'lf 8
d ; sssumptions. Find the sequence that minimizes the to
(d)  What is the probability that the project will be time required in performing the following jobs on three
completed in 41 days % achines in the order ABC. Processing times {in hrs.)
% 4 R 3§ qa B @ et are given in the following table
: ﬂﬁ%mﬁaﬁmﬁlmﬁmﬂﬁqlmﬁlﬁﬁw
Ay Fre i @ A FE ABC %mﬁmﬁ;
4 l
Job (i-}) . Duration (Days)3maRYy (f) ] o @8 FA fiftTe 7 F9 GHE T : .ﬂfﬁ'q
(iﬁrtf} (i-i) Optismistec (t,)| Most likely Pessimistic time UEH HHA {EI“E‘T ﬁ) = ETF'ﬁ e
AR w | TR () (P e )
L 3 5 i = : 5 Foo| A L] 5_—\
5 T g 1 Al s [0 e [T |11
28 2 5 5 eduneB) & | 6 1 ¢ ; ;41
(5 3 - i [Machin
| _(6-7) 3 L : trol
] 1 3 :?' 9. (a) Desciibeinbriefthe problem of invertory mn.
= : L 28 with example. Describe the factors affecting
memory control.
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gvel) Frsor & §EE @ SR Ofed
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Explain EOQ problem with shortages.

FH gl EOQ THET F qHEEd|

e ¥ mmmm-
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